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(2021. 3. 1. ~ 2022. 2. 28.)
X~ 7 =
_ABAE =20l a9 () 20§ A1 (B) 52(AB)
58,359,020,000 44 ,634,930,000 13,724,090,000
gsoz Qs g ey 58,359,020,000 44 ,634,930,000 13,724,090,000
5100
Absts ol 13,473,551,000 8,872,916,000 4,600,635,000
5110
Absta{aiol 4ol 8,368,157,000 4,125,287,000 4,242 ,870,000
iggﬁmuoﬁwm 4,344,441 ,000 2,057,344,000 2,287,097,000
T oT T =
5A1132+aa“o4ﬂ|o1?,\0| 4,023,716,000 2,067,943,000 1,955,773,000
= A= [ T =
5120
MetE s T e 2o ol 447,526,000 331,629,000 115,897,000
5121
Aot I S o 4ol 447,526,000 331,629,000 115,897,000
1
§|3§00|K1-/,>0I 1,375,000,000 1,375,000,000 0
5132
| ALK AR O] 40! 1,000,000,000 1,000,000,000 0
5;363°o|7<1/\0| 375,000,000 375,000,000 0
T T =
5140
M| KHAALE B 20l 1,961,000,000 1,851,000,000 110,000,000
= (i) S I =
5141
MH| XA 2 40l 1,961,000,000 1,851,000,000 110,000,000
5190
S| EFAbaFEY 24 20l 1,321,868,000 1,190, 000,000 131,868,000
— 1K= i |
5191
| EbAbEFE 21 20! 1,321,868,000 1,190, 000,000 131,868,000
5200
x| 22 38,905,500,000 31,153,562,000 7,751,938,000
5210 19,732 17,164 2,567,961
N ERY 9,732,550,000 ,164,589,000 ,567,961,000

1

8,032,550,000

1,700,000,000

15,854,589,000

1,310,000,000

2,177,961,000

390,000,000




= o = | = ZZoj| Ak (A) LK (B) (A-B)
5220
X2 TS S0l 13,278,378,000 8,066,358,000 5,212,020,000
5221
X2 me oS0l 13,278,378,000 8,066,358, 000 5,212,020,000
5230
7B F5Y 5,894,572,000 5,922,615,000 -28,043,000
5231
| Epx| 2 a0l 5,894,572,000 5,922,615,000 -28,043,000
5300
21 H| 40l 5,794,249,000 4,440,024,000 1,354,225,000
5310
2V u| ArsF el 20l 1,471,829,000 702,786,000 769,043,000
5311
7 H| AFEF 8 24 o 20l 1,367,931,000 625,786,000 742,145,000
5312
ZFEu| AVBHE 2 T S 2 o <o 78,766,000 53,000,000 25,766,000
5313
24t 7| EFAFEFE 24 20 25,132,000 24,000,000 1,132,000
5320
2V u| x| 2l 220l 4,322,420,000 3,737,238,000 585,182,000
5321
24 u| x| 2l 2ol 240l 3,478,762,000 3,253,852,000 224,910,000
5322
ZFHu|x| Y2 DS 2 2ol 677,140,000 322,872,000 354,268,000
5323
24| 7| EFR 2 240! 166,518,000 160,514,000 6,004,000
5400
XMolgly| 2 a4l 12,400,000 26,000,000 -13,600,000
5420
J|s ol 12,400,000 26,000,000 -13,600,000
5421
olupy| =2 0 10,000,000 -10,000,000
5422
X M2 12,400,000 16,000,000 -3,600,000
5500
Sofg|20 173,320,000 142,428,000 30,892,000
5510
20|40l 173,320,000 142,428,000 30,892,000
5511
0| RpZol 149,595,000 134,928,000 14,667,000
5523
et et 0| 2o 23,725,000 7,500,000 16,225,000




25 T - | - 2240} AROH (A) 0 A1l (B) =7HA-B) MNET
2 ExigEozolaiE 3Ry 0 0 0
1300
H|§SA RpA 0 0 0
1330
= RERpAF 0 0 0
1332
7| SRR 0 0 0
1333
Ex13 ° 0 0
3. MEgEozolaEgy 0 0 0
3100
R 0 0 0
3110
P 0 0 0
3111
7|EtE 2 0 0 0
. AgFEY 57,445,318,000 44,379,301,000 13,066,017,000
1. RYESoZ Qs sgREY 50,055,566,000 40,081,135,000 9,974,431,000
4100
Absta{aiy| 10,297,901,000 6,189,316,000 4.108,585,000
4110
AbaHEi o 2h| 8,108,911,000 4.117,887,000 3,991,024,000
4111
ol 74| 3,029,063,000 1,520,879, 000 1,508,184,000
4112 877,440,000 622,000,000 255,440,000
spAy ol 74| 249, e B
4113 178,028,000 240,000,000 -61,972,000
oARAIA - F|H] 028, 000, 972,
4114
A=y 1,758,989, 000 940,407,000 818,582,000
4118
oA x| 2| 1,105,391,000 530,601,000 574,790,000
4116 2 20,000,000
NEPN 260,000,000 40,000,000 , ,
a7 900,000,000 24,000,000 876,000,000
2| i 77 ] 000, 000, ,000,
4120
- 401,597,000 315,629,000 85,968,000
e

Ho
02
g




A YO = < _
£ - _ _ o ato () o] ok (B) S2(A-8) N
2121
= 261,485,000 200,598,000 60,887,000
4122
S 40,470,000 12,000,000 28,470,000
NP 29,600,000 0 29,600,000
4125
s s 70,042,000 103,031,000 ~32,989,000
4130
Al Atz o] 2 803,488,000 804,800,000 ~1,312,000
4131
Al AL ALA] - ob] 115,988,000 117,300,000 ~1,312,000
e o A 687,500,000 687,500,000 0
4190
Sy 983,905,000 951,000,000 32,905,000
2191
983,905,000 951,000,000 32,905,000

4200
A YU FAAH

32,611,975,000

27,622,836,000

4,989,139,000

ijl_?ul 16,641,456,000 14,298,693,000 2,342,763,000
ijl_]m 4,125,217,000 3,214,659,000 910,558, 000
ijjj?_l?jtll 3,362,362, 000 2,785,088,000 577,274,000
ijg/\lg — 213,809,000 1,097,800, 000 -883,991,000
ijl_r‘f%%ul 3,877,126,000 3,221,286,000 655,840, 000
ggxﬂﬁm 3,457,806,000 2,454,410,000 1,003,396,000
ijl_ff% o 1,425,136,000 1,345,450,000 79,686,000
ﬁgoﬁmgm 180,000,000 180,000,000 0
éj???%%ﬂul 10, 134,594,000 7,385,578,000 2,749,016,000

4221
ol 2|

4222
S 2 |

2,658,653,000

909,377,000

2,168,554,000

641,300,000

490,099,000

268,077,000




Ao

~ A= _ =20l 040 (A) S0 (p) (A-B)

228 585,000,000 376,500,000 208,500,000
i a s 27,333,000 7,400,000 19,933,000
4225
e msso] 5,954,231, 000 4,191,824,000 1,762,407 ,000

2290

R 2 2 Aped] 5,835,925, 000 5,938,565, 000 ~102,640,000
4291
A xisi 2 Apet] 5,835,925, 000 5,938,565, 000 ~102,640,000

2300
SVl apts 3,899,206, 000 3,741,633,000 157,573,000

2310

e 2,461,718,000 2,112,938,000 348,780,000
4311
ot 2,111,718,000 1,840,538,000 271,180,000
4312
S 350,000,000 272,400,000 77,600,000

2320

S st 1,215,462,000 1,412,695,000 ~197,233,000
2321
S 2suz 882,660,000 857,555,000 25,105,000
Moiel Ee oimoisas 86,280, 000 116,510,000 ~30,230,000
4323
S o gl ] 108,022,000 103,630,000 4,392,000
o s or bl ] 10,000,000 10,000,000 0
PR 5,000,000 5,000,000 0
4327
pE 123,500,000 320,000,000 ~196,500,000

4

g 222,026,000 216,000,000 6,026,000
j—lljgs_gaim 12,000,000 6,000,000 6,000,000
A S - == 210,026,000 210,000,000 26,000

2340

7| Efx| 21t 0 0 0
4341
7| Ebx| 8] 0 0 0




) T =20l 040 (A) 2of tto4 (B) E2H4-B) M52

ggﬁ%aw 1,868,172, 000 1,864,872, 000 3,300,000

glﬁga'u' 1,868,172, 000 1,864,872, 000 3,300,000

‘;‘l_]ul 1,145, 618,000 1,169,378,000 ~23,760,000

glﬁxﬂgm 722,554,000 695,494,000 27,060,000

‘_‘é’g%l% 43,838,000 32,478,000 11,360,000

‘_‘é’galul% 43,838,000 32,478,000 11,360,000

igl)g—i—?éﬂlﬂl% 43,838,000 32,478,000 11,360,000

600 1,334, 474,000 630,000,000 704,474,000
ST AN ED 334,474, 000, 474,

ijl_,fi I 1,334,474,000 630,000,000 704,474,000

4611 1,334, 474,000 630,000,000 704,474,000

2. XS RoIBEREY

7,389,752,000

4,298,166,000

3,091,586,000

1300

| RS AR

(i)

7,389,752,000

4,298,166,000

3,091,586,000

1330
= RERpAF 0 0 0
1332
7| S RZ SR 0 0 0
1333
=Xtz 0 0 0
1310
S RFA 6,896,787,000 3,826,616,000 3,070,171,000
1314
e B 6,520,556,000 3,580,804,000 2,939,752,000
1315
I 376,231,000 245,812,000 130,419,000
= =
1316
R urp 0 0 0
1320
o 5 K} AF 442,915,000 421,500,000 21,415,000
T o
1321
442,915,000 421,500,000 21,415,000

XA A4




£ = e R — = 280f 41 (4) 20 2104 (B) E2H(4-B)
;Sli—?tllqc-’r%xfﬂ' 50,050,000 50,050,000 0
17?1:?7[% 50,050,000 50,050,000 0
Sg% 0 0 0
913,702,000 255,629,000 658,073,000
100,000,000 100,000,000 0
#a 20,127,125,139 18,665,508,811 1,461,616,328
#a 20,940,827,139 18,821,137,811 2,119,689,328
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=
T

Aol MM R Y M A

(2021. 3. 1. ~2022. 2. 28.)

-]

(2H - 2)
FZHOf AFM(A) =0 AFOH (B) SZ(A-B) A = = A
%
58,359,020, 000 44,634,930, 000 13,724,090,000
58,359,020, 000 44,634,930, 000 13,724,090,000
13,473,551 ,000 8,872,916,000 4,600,635,000
2ag) 8,368,157,000 4,125,287 000 4,242,870,000
5111
Abers et 4,344,441 ,000 2,057,344 ,000 2,287,097 ,000
=017 4]
e 01 Absheiai™soi 4ol 2,287,097,000
PR UA B 89 Botol ot o 2.,000,000,000
A ETA ZENE TSI SAEY A0lDYHAMRK Al 281,258,000
stofloi e FHE0 st B 3 27}apsof ok 5,839,000
5112
AreheE Al 4,023,716,000 2,067,943,000 1,955,773,000
SEEERS
of T 01 Absbead ARRIa]| o1 74 1,955,773,000
JURIEA BAMHIIA S HESARH Al £7} M 73,462,000
YR UA MH B Boto| e Fo 1,880,000,000
HEo| M BRI L Al shed 7 Aot 2HH /¢l 511,000
Abstolnfel EAl LINGHAIY ARUA CHSAFE (AFBHRIA) 1,800,000
pegoiag 447 526,000 331,629,000 115,897,000
5121
AT 447 526,000 331,629,000 115,897,000
Sl
N 01 et IS eso! 115,897,000




A o=

Ao

1)

oo

Ja

H

7

-10,000,000

65,389,000

kM aby 20214 A -104,087,000

21,400,000

110,195,000

10,100,000

12,500,000

FAZ AL R A A} 10,400,000
§}2§0|514>94 1,375,000,000 1,375,000,000 0
1,000, 000,000 1,000,000,000 0
375,000,000 375,000,000 0

5140

MU|RFAALE 1,961,000,000 1,851,000,000 110,000,000
1,961,000,000 1,851,000,000 110,000,000

AH[ AR5 110,000,000

THdlE] AH| R} ES0 80,000,000

el Fals| [2ME] ME|XHIALE R $9 30,000,000

5190
7|Etarere

1,321,868,000

1,190,000, 000

131,868,000

1,321,868,000

1,190,000, 000

131,868,000

>
[ol
1o
12
19

131,868,000




A HE S
= FZH O LM (A) 2 0f &HH (B) ZZH(A-B) & = = A
2 e =
AR A T|EfLtetE 0] ZtoH -50,000,000
MRS AR EX| A HAME] 2021 SHNAISAL RAHEFY BEIX| AZHE X AZ 50,000,000
olef M AASMEIHIE T BSR40 115,000,000
sbstolael SHA Mol AlY B MEZ=2IY 29 ~2,000,000
MBI E LA KPR HZ 18,868,000
5200
NP 38,905,500, 000 31,153,562,000 7,751,938,000
Xl’d I:ITgl
5210 17,1 2,567,961, 000
NEEREEY 19,732,550,000 7,164,589,000 ,567, ,
5211
NEELE 18,032,550,000 15,854,589,000 2,177,961,000
Yoo T
of 140l
T 01 AZHEATLO 2,177,961,000
X HA AFNWLEF TSR ALHH| 114,286,000
TIAXI A 20211 HET|SHHER ARH| I 2021d HTET AIFH RYUT|S 27| Afeiy| 62,000,000
TR AN YE RAUZ 5 200,000,000
AHERIRH Al A A LINCHALY 5AHAE Al X| (&2 4 7l L] ) 10,000,000
AR A M LR HAY 13,650,000
ATX UM XdFHEATF BN 1,000,000,000
XSRS AR Z X A S AME] 0|22 XS RRIDM 2 21 2 2k ALY (5AHA ) 7,395,000
HEn|dEXtNLYMAsATME! HHE SEXEH AIRI(5AHE ) 10,850,000
Heo|MEXtHN LR st 2 HHE AR MM HAMZ AY =22 XS 57,112,000
Arstolal ol ™Al LINCHALY 4xtdE F 0ol F(ME7|23S7|&7HEs]) 16,938,000
AHERRIZH R A LINCHALY 5XHAE FUX|AF (7|23 57|87 2]) -152,000, 000
olef MHAAEMLHIMIE MAEHAMT|EXY EHETE A(H0|R) 182,480,000




= - 2240] 2124 (A) 2 of Akl () S2(aB) & 5 = 5
2 3 =

OleiAAALEL HIME X AFHEATF -30,589,000
HEeo| SRt U At st e HHE ALS|HAM 2XHA T HEX| 2T 2 —48,940,000
SRI|7|BBI|sHEFTME 5AHE AIHEZE o &t 2 -152,731,000
S EAT A 3RAE AtYH| AF 174,426,000
2| BT o MAEH -154,585,000
At E LA DR (SHFATM ) I AT MR FAIY X dF 685,894,000
At B LA oM ItET| SQIRDEH S X AAY HEXEZ 21,000,000
CIAR|MEAMA AR MM YAME [SSAT] A7 2| 69,311,000
QIAZ|MEAMA| AR SHAX|JAME] [SHalod7] 13,834,000
AzZtojc|of HAZROHEAIG CF M o 7 3bx| 19,400,000
ol XS A HASFHEAIGEE A7 2 H 29,130,000
ol XS A HASFHEAIGEE AFZH2 29,100,000

5212

x| 2l 2 Ak 1,700,000, 000 1,310,000,000 390,000,000

HetTe 01 XleJieiH el ol 390,000,000
AR U KABAIRE] BTl 0fE F 390,000,000

13,278,378,000

8,066, 358,000

5,212,020,000

5220

AUZDH LIS
5221
AABTS
24

13,278,378,000

8,066, 358,000

5,212,020,000

01 xAFWF LA

RS SAHE EX S MM E S alop7te o] (33t =)

[pa
_|0|
o
P!
[ns

HHA LINCHALY 4R &= =110|

[
oy

[pa
_|0|
o
P
[ns

HHA LINCHALY BAMA = = 1X|

o
oy

5,212,020,000
-106,575,000
256,289,000

-125,304,000
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= - 240 4124 (A) =0f A1%4 (B) S24(A-8) At 5 2
2 & =
HAESUE SAT|HY FAESMUE YEXEF -84,809,000
EAX M E 2020 o] FHHI 7K HEX|HAZ(0[H) 378,000,000
HUR AT 2021 ofu|ZeiHX| HEx AR -381,200,000
HUNADUEE 2021 FHA | SHAME AN DHTH ~1,000,000
FUR AN 2021 I 7 SHUNE AANY HeRET -55,000,000
MTOIZI0| BAI I X QHE 20213 E AlQ Ba| 2 2022dE AlRIHE R oI5t 27 WH o 7,000,000
M o 2lo| ZA 22| X JME] 7|EMX|HZ 52 -119,377,000
Atetoirel WHA HHSolz| XAF 6,000,000
T AR A AFT| B ERAAY AT eEEF | 22,100,000
CH P =2H 7] a2 e B Sof At 43,237,000
Atetgie| S 2Al A " 2HE EHof Y2 ALY 20221 AFRIH] 40,000,000
|2 MHALSH LI E T EX| 252 14,506,000
O|2 MHALSH LI E StEEAMATIES X2 40,000,000
=ZHIFME HHE 2021 MUl =ELtE M ALY ¢ 50,000,000
SHnFHNE AYE ZEZHDSX AL ¢ 38,000,000
E?ﬁ%l#ﬂ 5,794,249,000 4,440,024,000 1,354,225,000
gjglﬂﬁ 2440l 1,471,829,000 702,786,000 769,043,000
ig H|AFE 1,367,931,000 625,786,000 742,145,000
peEoTs 01 ZHEB|ABHBE ol 240 317,010,000
o
HAFX| el Al AMAX A Zolol| wE ZH™H TH 50,000,000
ARX|elA ME GnH Soto| wE ZtHH|$= SN 240,000,000




A X o=
=2 2= Z40f| AFOH (A) 20f| A+H (B) =ZHA-B) A = = H
o 3 =
MStHEEUN FENSAET|SRNEY AUITHHAMBAX|ALY X 2ZHH| 26,620,000
stof| i T E StECistetEate s HEX|eZ FItEE oot 390,000
02 Z+XH|ASEE] 2 AR A o =2 425,135,000
T AR A SAHX I LS M =SHAMELRR ALY 2+ H| 9,135,000
x| Al MAH 89 Zotol wE ZHHH| S 416,000,000
5312
ZVE{H| AFEF 78,766,000 53,000,000 25,766,000
— —_ 1
semse s
of 20l 01 ZHHu|AEEE IS RHT+ 25,766,000
HAX| M E 2021 a3l 22tel EMst e ALY ZHHH| 6,611,000
IHAIAME HHE ZHHH]| ¢! 8,000,000
=H AT A (AAH|+2 G|+ ZHEAL) #5% 4,286,000
=H AT A ZAIR+RGH[+2 2l S & SHEH| (AMIH]) 944,000
=H AT AILH|(ZAIZ+2GH[+22IER) 2| 6% 765,000
MEHA BB DSEY UFH| 5,160,000
5313
Z4E{H| 7| EF 25,132,000 24,000,000 1,132,000
Absteiad 4 )
ol 01 ZHH|7|EFArEtE 2i 50l 1,132,000
0|
eSS T (FRIS2Y 2| 1,132,000
5320 22,42 737,238,000 85,182,000
217 | x| 2 3ol 4,322,420,000 3,737,238, 585,182,
5321
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H| &
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MetEH ST Mo 2 E2leo} M| MEed UM dT8 AZEY 7Y 2,910,000

LR D E st HAAFALIEE On/0ff Hybrid CHE R FZE 7(7] 87,400,000
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